
INSTALLATION MANUAL

37"-70" FLAT SCREEN TILT/SWIVEL
WALL MOUNT BRACKET

650350 40kg
(88lbs)
RATED

40kg
(88lbs)
RATED

650350-Manual.indd   1 2013/9/23   10:44:14 AM



650350-Manual.indd   2 2013/9/23   10:44:15 AM



articulated arm assembly (x1)
A

adapter bracket (x2)
B

Package M

Package W

ST6.3x55  (x6) 
W-A

concrete anchor (x6) 
W-B

D6 washer (x6) 
W-C

M5x14 (x4) 
M-A

M6x14 (x4) 
M-B

washer (x4) 
M-F

M8x20 (x4) 
M-C

M6x30 (x4) 
M-D

big spacer (x4) 
M-H

M8x30 (x4) 
M-E

small spacer (x8)
M-G

650350-Manual.indd   3 2013/9/23   10:44:16 AM



1-A. for wood stud wall mounting

55mm
(2.2")

ø 4.5mm
(ø 3/16")

650350-Manual.indd   4 2013/9/23   10:44:16 AM



1-B. for solid brick and concrete mounting

60mm
(2.4")

ø 10mm
(ø 3/8")

650350-Manual.indd   5 2013/9/23   10:44:17 AM



2.

2-1. for flat back screens

650350-Manual.indd   6 2013/9/23   10:44:17 AM



3.

2-2. for recessed back screens or to access A/V inputs 

wall

650350-Manual.indd   7 2013/9/23   10:44:18 AM



4.

tighten the two bolts by using a proper phillips screwdriver to secure the bracket.

wall

safety bolt

650350-Manual.indd   8 2013/9/23   10:44:19 AM


